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- gy | genE | gu3d | mexE | gy3e | gen
1. 7p|RE 39,361,551,532 37,401,178,846 (1,960,372,686)
2 A4 BATEH(A=pa+Ab+Ac) 1,397,428,940 1,397,398,358 (30582)
T Q2R K|RHE(Aa) 1,000000000 | 700,000,000 | 1,000,000,000 | 700,000,000 -
IATMEEZATEAD) 139,810,783 138,423,638 (1,387,145)
SHETA BATEER|E
FEE il Ry e 466035942519 | 139810783 | 461412,127,769 | 138423638 | (4.623.814,790) (1,387,145)
EXpgans
JSTMEELATEA) 557,618,157 558,974,720 1,356,563
537 414030657 415,387,220 1,356,563
P R LR
NEFH BASNERR 2
NEFAT|E ERNSHTY § 3527075434 | 264530657 | 3545162934 | 265,887,220 18,087,500 1,356,563
HEFA A0 8%, 5528, 37|,
AT 22
HEFY ARATO HEE0] AMA TE A0l 2
H253 199 32 2000000000 | 100,000,000 | 2,000,000,000 | 100,000,000
VHBERSH 7|28 HSENFH 9,300,629,537 0| 9300629537
UHENSH MRS LSRN 990,000,000 49500000 | 990,000,000 49,500,000
TEEH
HAE
CEE 1914500000 | 143587500 1914500000 | 143,587,500
3. A YATHZAI(B=Aa+(Ab+Ac)*50%) 1,048 714,470 1,048,699,179 (15,291)




